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Correction parcours fléché : Factorisation à l’aide d’un facteur commun 

 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

A B 

C D 

E F 

G H 

K L 

S T 

I J 

𝐴 = 8 ×  𝑥 +  8 × 4  

𝐵 = 7 ×  𝑥 +  7 × 6  
 

 
 

 

 

 

 

 

 

 

      

M N 

O P 

𝐼 = 7𝑥2 − 14𝑥  

𝐽 = 9𝑥2 −  27𝑥 

 
𝐾 = 16𝑥 + 16  

𝐿 = 18𝑥 + 18  

 

Q R 

𝑂 = (3𝑥 + 2) (2𝑥 − 9) − (5𝑥 − 7)(3𝑥 + 2)   

       𝑃 = (8𝑥 + 5) (3𝑥 − 4) − (10𝑥 − 9)(8𝑥 + 5)   

 
𝑄 = (𝑥 + 4) (𝑥 − 5) + (𝑥 + 4)2  

𝑅 = (2𝑥 + 7) (𝑥 − 2) + (2𝑥 + 7)2  

𝑆 = (7𝑥 + 1) − (7𝑥 + 1)(2𝑥 − 6)  

𝑇 = (4𝑥 − 5) − (4𝑥 − 5)(3𝑥 − 7) 

 

𝐸 = 5𝑎 + 15𝑏  

𝐹 = 3𝑎 + 12𝑏  
 

 
 

 

 

 

 

 

 

 

      

𝐺 = 𝑥2 + 6𝑥  

𝐻 = 𝑥2 + 11𝑥  
 

 
 

 

 

 

 

 

 

 

      

𝐶 = 6𝑥 − 24  

𝐷 = 4𝑥 − 16 
 

 
 

 

 

 

 

 

 

 

      

𝑀 = (𝑥 − 5)(2𝑥 − 1) + (𝑥 − 5)(3𝑥 + 7)  

    𝑁 = (𝑥 − 7)(3𝑥 − 2) + (𝑥 − 7)(4𝑥 + 8)  

 

𝑘 ×  𝑎 +  𝑘 × 𝑏 =  𝑘  (𝑎 + 𝑏) 

 

Factorise et réduis les expressions. 
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𝐴 =  8 ×  𝑥 +  8 × 4   

𝐴 = 8(𝑥 + 4)  

 

𝐵 =  7 ×  𝑥 +  7 × 6   

𝐵 = 7(𝑥 + 6)  

 

𝐶 = 6𝑥 − 24         

𝐶 = 6 × 𝑥 − 6 × 4  

𝐶 = 6(𝑥 − 4)  

 

𝐷 = 4𝑥 − 16         

𝐷 = 4 × 𝑥 − 4 × 4  

𝐷 = 4(𝑥 − 4)  

 

𝐸 = 5𝑎 + 15𝑏         

𝐸 = 5 × 𝑎 + 5 × 3𝑏  

𝐸 = 5(𝑎 + 3𝑏)  

 

𝐹 = 3𝑎 + 12𝑏         

𝐹 = 3 × 𝑎 + 3 × 4𝑏  

𝐹 = 3(𝑎 + 4𝑏)  

 

𝐺 = 𝑥2 + 6𝑥         

𝐺 = 𝑥 × 𝑥 + 𝑥 × 6  

𝐺 = 𝑥(𝑥 + 6)  

 

𝐻 = 𝑥2 + 11𝑥         

𝐻 = 𝑥 × 𝑥 + 𝑥 × 11  

𝐻 = 𝑥(𝑥 + 11)  

 

𝐼 = 7𝑥2 − 14𝑥         

𝐼 = 7𝑥 × 𝑥 − 7𝑥 × 2  

𝐼 = 7𝑥(𝑥 − 2)  

7 

𝐽 = 9𝑥2 − 27𝑥         

𝐽 = 9𝑥 × 𝑥 − 9𝑥 × 3  

𝐽 = 9𝑥(𝑥 − 3)  

7 

𝐾 = 16𝑥 + 16         

𝐾 = 16 × 𝑥 + 16 × 1  

𝐾 = 16(𝑥 + 1)  

7 

𝐿 = 18𝑥 + 18         

𝐿 = 18 × 𝑥 + 18 × 1  

𝐿 = 18(𝑥 + 1)  

7 

𝑀 = (𝑥 − 5)(2𝑥 − 1)⏟          
𝑡𝑒𝑟𝑚𝑒 1

+ (𝑥 − 5)(3𝑥 + 7)⏟          
𝑡𝑒𝑟𝑚𝑒 2

 

   𝑀 = (𝑥 − 5) ⏟    
𝑘

[(2𝑥 − 1)⏟      
𝑎

+ (3𝑥 + 7)⏟      
𝑏

]  

   𝑀 = (𝑥 − 5) (2𝑥 − 1 + 3𝑥 + 7) 

   𝑀 = (𝑥 − 5) (5𝑥 + 6) 

 

𝑁 = (𝑥 − 7)(3𝑥 − 2)⏟          
𝑡𝑒𝑟𝑚𝑒 1

+ (𝑥 − 7)(4𝑥 + 8)⏟          
𝑡𝑒𝑟𝑚𝑒 2

 

   𝑁 = (𝑥 − 7) ⏟    
𝑘

[(3𝑥 − 2)⏟      
𝑎

+ (4𝑥 + 8)⏟      
𝑏

]  

   𝑁 = (𝑥 − 7) (3𝑥 − 2 + 4𝑥 + 8) 

   𝑁 = (𝑥 − 7) (7𝑥 + 6) 
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𝑂 = (3𝑥 + 2) (2𝑥 − 9)⏟          
𝑡𝑒𝑟𝑚𝑒 1

− (5𝑥 − 7)(3𝑥 + 2)⏟          
𝑡𝑒𝑟𝑚𝑒 2

 

  𝑂 = (3𝑥 + 2) ⏟      
𝑘

[(2𝑥 − 9)⏟      
𝑎

− (5𝑥 − 7)⏟      
𝑏

]  

  𝑂 = (3𝑥 + 2) (2𝑥 − 9 − 5𝑥 + 7) 

  𝑂 = (3𝑥 + 2) (−3𝑥 − 2) 

 

𝑃 = (8𝑥 + 5) (3𝑥 − 4) − (10𝑥 − 9)(8𝑥 + 5) 

 𝑃 = (8𝑥 + 5) ⏟      
𝑘

[(3𝑥 − 4)⏟      
𝑎

− (10𝑥 − 9)⏟      
𝑏

]  

 𝑃 = (8𝑥 + 5) (3𝑥 − 4 − 10𝑥 + 9) 

 𝑃 = (8𝑥 + 5) (−7𝑥 + 5)  

 

 𝑄 = (𝑥 + 4) (𝑥 − 5) + (𝑥 + 4)2  

 𝑄 = (𝑥 + 4) (𝑥 − 5) + (𝑥 + 4)(𝑥 + 4)  

 𝑄 = (𝑥 + 4) ⏟    
𝑘

[(𝑥 − 5)⏟    
𝑎

+ (𝑥 + 4)⏟    
𝑏

]  

 𝑄 = (𝑥 + 4) (𝑥 − 5 + 𝑥 + 4) 

 𝑄 = (𝑥 + 4) (2𝑥 − 1)  

 

 𝑅 = (2𝑥 + 7) (𝑥 − 2) + (2𝑥 + 7)2 

 𝑅 = (2𝑥 + 7) (𝑥 − 2) + (2𝑥 + 7)(2𝑥 + 7)  

 𝑅 = (2𝑥 + 7) ⏟      
𝑘

[(𝑥 − 2)⏟    
𝑎

+ (2𝑥 + 7)⏟      
𝑏

]  

 𝑅 = (2𝑥 + 7) (𝑥 − 2 + 2𝑥 + 7) 

 𝑅 = (2𝑥 + 7) (3𝑥 + 5)  
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 𝑆 = (7𝑥 + 1) − (7𝑥 + 1)(2𝑥 − 6)   

 𝑆 = (7𝑥 + 1) × 1 − (7𝑥 + 1)(2𝑥 − 6)  

 𝑆 = (7𝑥 + 1) ⏟      
𝑘

[ 1 ⏟
𝑎

− (2𝑥 − 6)⏟      
𝑏

]  

 𝑆 = (7𝑥 + 1) (1 − 2𝑥 + 6) 

 𝑆 = (7𝑥 + 1) (−2𝑥 + 7)  

 

 𝑇 = (4𝑥 − 5) − (4𝑥 − 5)(3𝑥 − 7)   

 𝑇 = (4𝑥 − 5) × 1 − (4𝑥 − 5)(3𝑥 − 7)  

 𝑇 = (4𝑥 − 5) ⏟      
𝑘

[ 1 ⏟
𝑎

− (3𝑥 − 7)⏟      
𝑏

]  

 𝑇 = (4𝑥 − 5) (1 − 3𝑥 + 7) 

 𝑇 = (4𝑥 − 5) (−3𝑥 + 8)  

 


